‘ DSV mEQl HEEI T

e 2T —

Single Suction Volute Pump

o

We, We, 24 288

e % W
2 248, E23NE

>
At Y42

oo
T

Cold/hot water circulation of flats and buildings,
Industrial uses Public works, Agricultral irrigation,
Draining, General water Pumping

T+ZAEAl Designnation st 200 - 65
Al (Model)
815 ol ml ;7-( 79 H
*"’Ko’ S22 ar01 olmipl S22/ (Impeller Dia,)
=27
o KOREAN INDUSTRIAL STANDARD E&73 (Discharge Bore Size)(mm)
4’05'5%

ISO 28581+ 2 KSB 75017 A0 &5t & L X7t EESHE Y222 e MAUME F|129|
E

= 2 9l
E82 W= ZAN WS Mea 4 Usuch

Since the capacity and dimension of DSV, Pumps are standardized in accordance with ISO 2858 and KS B 7501,
the types are economical choices which the highest efficiency is available under any conditions

CASING PACKING BOX BEARING HOUSING BEARING COVER

IMPELLER SHAFT
IMPELLER KEY
IMPELLER NUT
SUPPORT
LINER RING PACKING LANTERN RING  PACKING GLAND
Mechanical Seal Seal Cover
Al (Model) DSV
M/S Shaft EZ&2F (Capacity) Max. 12 m*/min
HUH (Head) Max. 80 m
25 (Temperature) Max, 90°C
3|X 4= (Revolution) 1450, 1750rpm
7 (Bore) 32 ~ 200 mm(EETEIIE)
_ _ S =0l A C1a=1]
. . 5174813 (Rotation) SoIM 2ot ADIEE
Mechanical Seal (Option) Clockwise viewed from coupling end
ZaiX| (Flange) KS B 1511 (10kg/cm?)

64 DAEYOUNG POWER PUMP



Head (m)

100
80

60
50

40

30

20

Selection Chart DSV HEQ HWEEHED
1750 rpm
——11] / \\\
T 400-125x90kW
400-80x45kw\400 ooxToew DD B
~100x73kW 400-150x150kW
N N e AR — 4~
~N- ~N
315-65x15kW 315-100x37kW YT
/] s15-s0xtiw | |/ / 315-80x22kW 3157150x75kW
/ = LA AL 315-125x45kW
/ - = SN SV /\ /
[ 250-40x3.7hW ] 250-65 11k\7v50-8ox1 <y N 1\ 45kW
// // 250-50x5.5kW 21111 / 250-100x18 5kW N f5°‘ 50x45
[ i = N /250-125x30kW N
\ \k N~ . N Y oy N
- - - 200-65x5.5kW 200-100x15kW AN
200-32x1.5kW N 200-40x2,2kW 7200 50x3 7kwL X } “7 220 " \ 2250-200x45kw7
S>— JA TR 200-80x7.5kW N\ . X /
/ ~N NI ™\ |/ 200-125x15kW
~N
N 160-40x1.5kW N A \
160-32x0.75kW |\ 160-50x2 2kW \Y% \
/ 60-65x3,7kW L/
/T AN \
N N
0.07 0.1 0.2 03 04 0506 08 10 1.5 2 3 4 5 6 7 8 910 12
Capacity (m*/min)
olda] o|H S Impeller Dia.
T = DSV 160- | DSV 200- | DSV 250- DSV 315—- | DSV 400-
ey S3 2F 160 200 250 315 400
el i oA ®169 ®209 ®269 319 »409
MODEL 277 | =873 = |say | Moy | say | Moy |say gy | WHEHA |y gqa| TEITA
Suc. Dis. kW [Qm’/min)| H (m) [Q(m’/min)| H (m) |Q(m*min)| H (m) | Driven| End ) T3 | H=
DSV 160-32 0.75 13 11.5 8
—————=1 40 32 0.07 0.12 0.17
DSV 200-32 1.5 20 18 ) 13
DSV 160-40 1.5 13 1.5 8
= 50 40 22| 015 0.25 0.35
DSV 200-40 | : 20 18 16 16305 77| 6305 22| ® 25 | @ 24 #1
DSV 250-40 37 32 29 26
DSV 160-50 2.2 13 11.5 8
DSV 200-50 3.7 03 20 05 18 07 16
DSV 250-50 6 50 5.5 ) 32 : 29 ) 26 #2
DSV 315-50 11 47 45 40 |6307 zz|6307 zZ| ® 35 |® 35 | #3
- 37 #1
—ggx 12%% %55 5'5 13 11.5 i 8 6305 77|6305 7Z| P 25 |® 24 p
| DN SR || g 65 : 06 20 10 18 : 16
DSV 250-65 1 32 29 26 s
DSV 315-65 15 47 45 1.2 44
DSV 200-80 7.5 19 17 12 6307 22| 6307 2Z| $ 35 | P32 | #2
DSV 250-80 100 80 B 40 32 158 29 21 26 #3
DSV 315-80 22 49 46 42 #4
DSV 400-80 45 78 72 62 6409 6410 $a5 | @42 | B
DSV 200-100 15 19 17 12 #3
DSV 250-100 18.5 32 29 24 | 6307 7Z|6307 2Z| ¥ 35 |P 32 | #4
= e - 125 100 12 25
DSV 315-100 37 ’ 49 ’ 46 s 38 #5
DSV 400-100 75 78 72 62 6409 6410 $45 | @42 | "z
DSV 200-125 15 18 15 8 P s #3
DSV 250-125 | 30 » v ' 8 _, o3 | 6307 22| 6307 27 35 32 v
DSV 315—125 | ™0 | " [a| 2 a7 : a2 : 34| oo | oo
DSV 400-125 90 80 72 62 EL
DSV 250-150 45 31 29 23 6409 | 6409 | @45 | @ 42 i
DSV 315-150 200 150 75 4.0 47 6.33 44 9.0 32 6409 6410
DSV 400-150 150 80 72 62 ELS
DSV 250—200 250 200 45 10 17.5 11 16 12 14,5 6411 6411 655 [P48 ] #5

www.dypump.co.kr 65



Egz
M f
[ E T
A 3t
D iy
® ~ 1 -
<
|
L2 i L3
|
L1
Unit:mm
o7 | Es7| == DSV 2|2x|4 (OUTLINE DIMENSIONS) EOME
MODEL Suc Dis. kW S
a f L1 L2 | L3 H h1 h2 h3 B B1 A F | ko)
DSV 160-32 20 - 0.75 80 360 710 115 480 367 132 160 207 300 265 60 M16 33
DSV 200-32 1.5 80 | 360 | 710 115 | 480 | 415 | 160 | 180 | 235 | 300 | 265 | 60 | Mi6| 38
DSV 160-40 1.5 80 | 360 | 710 115 | 480 | 367 | 132 | 160 | 207 | 300 | 265 | 60 | Mi6| 34
DSV 200-40 50 40 22 | 100 | 360 | 800 | 130 | 540 | 415 | 160 | 180 | 235 | 330 | 295 | 60 | Mi6| 40
DSV 250-40 37 | 100 | 360 | 800 | 130 | 540 | 480 | 180 | 225 | 255 | 370 | 335 75 | M20| 52
DSV 160-50 22 | 100 | 360 | 800 | 130 | 540 | 415 | 160 | 180 | 235 | 330 | 295 | 60 | Mi6| 37
DSV 200-50 65 50 37 100 360 800 130 540 435 160 200 235 330 295 60 M16 43
DSV 250-50 55 | 100 | 360 | 800 | 130 | 540 | 480 | 180 | 225 | 255 | 370 | 335 75 | M20| 53
DSV 315-50 11 125 | 470 | 1090 | 190 | 710 | 605 | 225 | 280 | 325 | 430 | 380 | 78 | Mi6| 65
DSV 160-65 37 100 360 800 130 540 435 160 200 235 330 295 75 M16 40
DSV 200-65 8 o 55 | 100 | 360 | 800 | 130 | 540 | 480 | 180 | 225 | 255 | 370 | 335 75 | M6 | 48
DSV 250-65 1 100 360 1120 190 740 550 200 | 250 300 420 375 75 M20 | 70
DSV 315-65 15 125 470 1120 190 740 605 225 280 325 450 405 90 | M20 91
DSV 200-80 75 | 125 | 470 | 1000 | 170 | 660 | 505 | 180 | 250 | 255 | 400 | 365 | 75 |M20| 66
DSV 250-80 100 80 15 125 | 470 | 1120 | 190 | 740 | 605 | 225 | 280 | 325 | 450 | 405 | 90 | M20| 76
DSV 315-80 22 125 | 470 | 1120 | 190 | 740 | 665 | 250 | 315 | 350 | 450 | 405 | 90 | M20| 96
DSV 400-80 | 45 125 | 530 | 1260 | 230 | 800 | 890 | 315 | 450 | 440 | 620 | 560 | 100 | M20| 200
DSV 200-100 15 125 | 470 | 1120 | 190 | 740 | 580 | 200 | 280 | 300 | 420 | 375 90 | M20| 74
DSV 250-100 | 25 100 185 | 125 | 470 | 1120 | 190 | 740 | 605 | 225 | 280 | 325 | 450 | 405 | 90 |M20| 88
DSV 315-100 37 140 470 | 1250 205 | 840 690 250 315 375 490 431 90 | M20| 105
DSV 400-100 75 140 | 530 | 1340 | 200 | 940 | 915 | 315 | 450 | 465 | 640 | 570 | 100 | M20| 205
DSV 200-125 15 140 | 470 | 1120 | 190 | 740 | 665 | 250 | 315 | 350 | 450 | 405 | 90 | M20| 93
DSV 250-125 150 125 30 140 470 | 1250 205 | 840 730 250 355 375 490 431 90 | M20| 100
DSV 315-125 45 140 | 470 | 1400 | 230 | 940 | 760 | 280 | 355 | 405 | 570 511 110 | M20 | 140
DSV 400-125 90 140 | 530 | 1420 | 200 | 1020 | 915 | 315 | 450 | 465 | 640 | 570 | 100 | M20| 215
DSV 250-150 45 160 | 530 | 1400 | 230 | 940 | 780 | 280 | 375 | 405 | 570 511 10 | M20 | 130
DSV 315-150 200 150 75 160 | 530 | 1400 | 230 | 940 | 865 | 315 | 400 | 465 | 640 | 574 | 110 | M20| 156
DSV 400-150 150 | 160 | 530 | 1600 | 260 | 1080 | 915 | 315 | 450 | 465 | 640 | 574 | 110 | M20| 222
DSV 250-200 | 250 200 45 230 | 606 | 1360 | 220 | 920 | 805 | 360 | 320 | 485 | 670 | 606 | 140 | M20| 316

66 DAEYOUNG POWER PUMP



307 Liner Ring

402.3 Hexagon Nut

0O-Ring

307 Liner Ring
(Option)

501

502

503

401.2 Stud Bolt

401.1 Stud Bolt

Packing

210 Def
Packing

Gland

lector

107 Bearing Cover —
.

O-Ring or Gasket

(Option )

"
—

DSV BEQ UeEwa|
- =2 70| (Casing) A2 (Impeller) Z% (Shaft) ES XX (Sealing)
J|2x1& (Standard) GC200 GC200 SM45C Gland Packing
=Mx4ZE (Option) SSC13, SSC14, GCD450 BC6, SSC13, SSC14 STS304, STS316 Mechanical Seal
Iltem No Part Name Material
101 401.1 304 305 108 106 201 301 403 101 Casing GC200
105 Impeller GC200
} } 106 Bearing Housing | GC200
! ! 107 Bearing Cover GC200
108 Packing Gland GC200
109 Packing Box GC200
105 — 110 Support GC200
307 - 201 Shaft SM45C
204 Impeller Key SM45C
1 205 Coupling Key SM45C
210 Deflector NBR
= = 301 Ball Bearing STB
1 i 302 Casing O-Ring NBR
S I |<_! 304 Lantern Ring SS400
FRXIT - 305 Gland Packing GREASE PACKING
I‘\ l 307 Liner Ring GC200
— 205 401.1 Stud Bolt SS400
- 401.2 Stud Bolt SS400
107 402.2 Hexagon Nut Ss400
2023 + 402.3 Hexagon Nut SS400
403 Hexagon Bolt SS400
404 £ 404 Impeller Washer | SS400
501 Mechanical Seal | Option
204 502 M/S Sahft STS304
302 109 401.2 402.2 210 110 503 M/S Cover GC200
404 105 109 Oil Seal 201 Shaft 205 Coupling Key
Impeller Washer Impeller Packing Box 304 Lantern Ring (Option))
204 Impeller Key
101 Casing ggzsing 305

403 Hexagon Bolt

107 Bearing Cover

Oil Seal

(Option )

110 Support

www.dypump.co.kr 67



